ttration curve and Indicator table shown below?

5
A The acidis we Phenoiphthaiein is the sultable T i i i i o s g A v
Indicator to use In this ttration b




Which of the following statements is correct about the reaction 0 U Ly s G0 i
shown below?

HCH;0(aq) + H;0() = H;0*(aq) + C;H;0,"(aq)

A._The acid HC:H,0, Is strong and the conjugate base C,HyOy s weak | <dass CH;0; S il 5 4 b aas »m.o, A
5.8

B. The base C;H,0; Is weak than H,0 base H0 38l (e i CH,0, d
njugate base C;H,0; has greater Holon | 480t ¥ W L e 55 G0, dv»‘ l‘ <
than does the base H:0 ! 0
0. The equilibrium lies far to the right T e % TR
A
B
C
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b
1

A 2times (ER2A
8. 10 times. <108
€. 100 times %100 .C
01000 times T 10000
A
I
B
C
1 D @
How many times increases the concentration of K Ly A [HY] oy Sl S i
12 | hydrogen ions [H'] in the solution X than in the S e i ¥ Sy | |

solution ¥ according to the figure below?



Stamp


Wty T ola of pRosporc i F0u saion |G TATIL o U op0a B e ot
if 114 mL of 0.00804 M NaOH s eeded to ¥ maad Jae o 118 mL A4a 0,00804 M NaOH
| Reutraize 118 m ofthe acid souton?”

3NaOH(aq) + H,PO,(aq) - Na,PO,aq)+ 3H,0(l)

o.00259 M

000318 M

00077 M

0.0105M

What s the value of K. of 0200 i solution of 0200 FHBO s s S,
hypobromous acid HBr0 , p -4 63 pusa )

HBrO ,, +H,0, SH*  + BrO- )




a
oowsm

‘What s the vaiue of K, of 0.200 M sojution of 30200 M 355 HBMO Spmsm o Jpaa K, |

hypobromous acld HBr0 , ph =4 637 oot 63 |

HBrO , +H,0, 5H",, + BrO-

(aq) (aq) (agq)

K, =298 x 10™"

K=2.74x 10"

K.=225% 10"

K.=3 6010 "

QI i3 45 4478 U The emergy eleased ina reacion



RS of e e iy dacit Shigd g5 D ) S Ll A LD 25 o
completely in aqueous solutions producing. :
hydraxide fons OH OH" sty ag?

Atandil
B.tand il
Cuandml
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M e ot comstant

HIO, +H0, S HO"  +107

" [my0° 110"



0ol =95
w): (] = 10
@ o] = 10°¢

A owest) (¥) = (X) = (Z)ugpest

o () = () = (F) um A

B poweatX) —+ (V) = (2w

L (Z) = (¥) = (X) um 8]

Ctowesn (Z) =+ (X) = (¥) ighesy

e (V) = (X) < (&) um C

D gowest) (X) =+ (Z) =+ (¥ Jigress

) (V) = (Z) & (X) m D

III <
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